TR 2 SEENHRAKEEFEKEANTERER

1 AHRAKE
(1) ANOBRORECHETIRFEELERE

=== =
EH g (BTN ED B
AREOL mg/L TEH | TR | THRE | THRY 0.01TLATF
£IT Y mg/L | FEH | TR | TR | TRl BmEhizNl &
Eia] mg/L TEEH | TR | THRE | THRY 0.01TLTF
Nl B L mg/L | FEE [ FigH | FEd | T 0.05F
itz mg/L | 0.001 0.002 | 0.001 0. 001 0.01LLF
KR mg/L | T | TR | FHRE | Fgd 0. 000554 F
T ILFILIKER mg/L | FEE | FRE | TRE | TRb BHEhBWI &
PCB mg/L | T | TR | TR | TRl B EhizNI L
coroorsay mg/L | T | TR | TR | TRl 0.02UF
mig{b xR mg/L TEH | THE | THRE | THRY 0.002LLF
1, 2=Y900xT4ay mg/L TEEH | THE | THRE | THRY 0.004LLTF
1, 1—=o90RIFLY mg/L | FRE | FRE | FRE | FRE 0.02LLF
YRA—1, 2=24900IFLY| mg/L | TRYE | Y | FRE | Frd 0.04LLTF
1, 1, 1—kYs0RITHY mg/L | FEE | FRE | TRE | TR 1T
1, 1, 2—rysBERIAY mg/L THEH | THE | THRE | THRYE 0.006 LA
ckysooTFLY mg/L TEH | THE | THRE | TR 0.03LLF
Thk>2BBIFLY mg/L THEH | THE | THRE | THRYE 0.01LLF
1, 3—ysoo7aoRy mg/L | FRE | FRE | FRE | F&H 0.002LLF
FI5 L mg/L | FEE | FRE | TRE | TR 0.006 LT
DR mg/L | T | gl | FRE [ TR 0.003LLF
FARALTD mg/L | FRE | FRE | FRYE | FiaH 0.02LLF
¥y mg/L T | T | THRE | TR 0.01LLF
LY mg/L THEH | T | THRE | TR 0.01LLF
HEMERRUEHEBREER mg/L 1.4 1.3 2.4 1.8 10LLF
PAVEA mg/L 0.17 0.11 0. 11 0.16 0.8LLF
INE mg/L 0.04 0.04 0.04 0.03 1L
1, 4—CHFH> mg/L | FEE | FRE | TRE | TR 0.05LLF




FR 2 SFENH

FKEFKERERR

(2) 4EBEORLSICETIEBELEER
7 @l
- - B0, | Mg | SS%a | T Neo | T-Pos | D0py | ABEEE |
EH a2 | Hu %2 %3 x4 %5 X6 ol
KBE  |WEREE|AEA[ of (mg/L) | (mg/L) | (mg/L) | (mg/L) | (mg/L) | (mg/L) | (MPN/100mL)
6| 14| 44| - B - . 3.3 170, 000
. 8H] 76| 51| - 3 - . 1.2 230, 000
TR R 77 48] < 5 - . 5.5 70,000
28] 75| 65| - 71 - . 1.4 49, 000
6H] 74| 22| - 5 - - 8.0 140, 000
o 8A| 79| 51| - 5 - - 9.5 70,000
RRRAKE SHE g3 B - T - - 1.4 49, 000
28] 75| 17| - T - 4.9 | 71,600,000
68| 75| 37| - 8| - . 81 350, 000
am 8H| 17| 42| - | - . 1.9 330, 000
= A 79| 19| - 5 - . 5.0 33,000
28] 18| 32| - | - . 6.2 79,000
68| 75| 2.7 0 12| - . 7.4 49,000
- 8H] 77| 25 < 8| - - 72 29, 000
, ,
B — AT 30 2.1 < 6| - - 7.6 33,000
28] 78] 26 < A - 8.5 13. 000
N ,
e 68| 75| 2.0 < 8| - . 75 23,000
- 8H] 77| 15 < o - . 81 33,000
| ,
BAMK N —T5 5 12 '3 2| - = 9.5 2,200
28] 77| 26 < S . 5.8 1,300
68| 77| 25| - o - . 5.6 17. 000
8A] 79| 26| - 0] - . 6.9 130, 000
#l FNKE 75 80 09| - 5 - . 6.6 33,000
28] 78| 17| - 5] - . 8.0 13. 000
6] 75| 22| - ] - . 8.7 33,000
- 8A] 78| 23] - 0 - . 7.0 49, 000
Rl Ty N R 3 - . 6.8 33,000
- 28] 73| 31| - A = 6.1 23,000
BRsA )1l
6] 75| 25| - 5 - . 71 33,000
SA B9 91| - e = 18 2,900
i 3y
DB TR 78| 23] - 5| - . 7.4 33,000
28] 75| 26| - A = 71 7,900
6A] 74| 24| - 0| - . 6.8 29, 000
8A] 79| 27| - 71 - = 10 23,000
Hig A 79| 08| - 3 - = 13 26,000
. 28] 74| 10| - 3| - = i 1.100
5 6A] 74| 21| - - = 6.8 7,000
" 8A] 79| 18| - N = 9.2 13,000
B8 AT 7o - N = 10 33,000
28] 74 11| - A = 10 2,300
6H] 74| 1.9 < v - = 7.9 22,000
- 8A| 74| 77 9 2| - = 55 29,000
= A 77| 1.9 < 5 - = 81 23,000
e 28] 74 23 < 3| - = 9.2 12,000
el 6 A 7.6 2.2 - 10 - - 8.4 130, 000
- 8A[ 9.0 2| - B - = 240 3. 300
" TTA| 81| 09| - 3| - = 13.0 7,900
28] 77| 14| - 7 - = 4.0 2. 200
6H] 74| 209 < 8| - . 9.1 170, 000
, 8A| 78| 45 < 8| - . 7.0 7,900
WS —TE 50 6.8 <1 6| - = 8.1 1,300,000
28] 77| 35 < 5 - . 6.7 12, 000
Kl 68| 75| 3.4 < v - = 10.0 33,000
8A] 78] 36 3 0] - = 7.9 17,000
A —H R 7 08 3 0] - = 7.0 | 4,900, 000
28] 78] 29 < A = 9.8 23,000
68| 75| 33| - 0] - . 9.8 2,900
8A| 7.8 o] - 7 - . 8.0 130, 000
MR —7a 81 21 - 7 . 9.0 7,900
28] 18| 22| - N . 9.0 7,900
AN 6A] 76| 37| - v - = 6.6 17,000
N 8A| 78| 37| - 0] - = 6.6 49, 000
RE® — 7m0 25 = 7 - = 85 33,000
28] 78] 26 - 3] - = 81 7,900
BEAE 90 220 I 31 ] - - 240 | 4 900 000
BNME 73] 08| - 7 - 5 33 1.100




TR 2 SERENKAKEBEKERERER
14 8
COD.:.g n—H.;.3 SS.:.4 T_N.:.5 T_P.:.G DO.:.7 j{ﬂ%%ﬁﬂ
Kii® | BEEAL|BEA| PHy a i & i i i
(mg/L) | (mg/L) | (mg/L) | (mg/L) | (mg/L) | (mg/L) | (MPN/100mL)
6H 7.6 11.0 - 14 1.7 0.18 14.0 4, 600
8H 8.2 17.0 - B85 2.0 0.31 19.0 7,900
sthim B0
1A 7.6 6.1 - 4 2.2 0.12 9.4 17,000
2H 7.3 15.0 - 64 7.6 0.58 4.9 4,900
6H 8.5 12.0 = 24 1.2 0.11 11.0 3,300
8H 9.2 14.0 = 34 1.8 0.16 15.0 1,100
E/ 07 B O
1A 8.3 13.0 = 24 1.5 0.13 11.0 1,100
2H 8.1 11.0 = 11 1.2 0.09 13.0 130
6H 7.6 7.8 - 8 1.8 0.12 7.1 11, 000
8H 7.5 6.9 - 4 1.2 0.14 3.7 33, 000
T3 B O
1A 8.4 23.0 - 54 2.5 0.28 17.0 1,700
2H 8.3 16.0 - 27 2.2 0.19 19.0 1,700
6H 1.2 6.0 = 10 2.1 0.15 2.2 13, 000
8H 1.5 13.0 = 21 4.7 0.67 4.3 7,900
RIFB B O
1A 7.6 8.5 = 21 3.4 0.24 6.2 7,900
2H 1.2 6.9 = 14 4.5 0.26 5.5 7,900
6H 9.4 19.0 - 29 1.6 0.13 9.4 490
8H 9.8 47.0 - 84 3.3 0.28 13.0 49
FXith HHO
1A 9.3 23.0 - 42 2.9 0.19 12.0 2,600
2H 9.0 14.0 - 19 1.3 0.14 13.0 170
RAE 9.8 47.0 = 84 7.6 0.67 19.0 33, 000
=/IME 1.2 6.0 = 4 1.2 0.09 2.2 49
%1 pH - KE/MVEE
%2 BOD -+ £¥LEMBREREE
3 n-H - A HEEYMEE
X4 SS - FEYE=E
X5 T-N - RERSEHE
X6 T-P - BRYASEHE
X7 DO - BAEMFEEE=E
%8 COD --- {LFMIBERERERE




